‘ elassmate.

W <
! ( \ Date_____ i
\5.\’1'1\1 giﬁ_‘J——-—— 5
6| Subtwacx I
I Ho M9 -
y Q e AL
- % 15 Y
I Nowre 1 o 10 sec
B Ane - A Noure V| mdnudes \Oseconds
b 2 M S
; \G 26 45
| =y a3 \3
1: V2 howre 38 mun 32 5%
| Ans - 12 hourts 33minules 32 secondls B
St M 5 )
| A [8%) 13 -
‘ : \5 WD W




| elrgemat,
t C—D-’"h\": ’
. Lc'.eh_“mﬁr
. ‘\\/
Jf ——————————— = ~——
7 | How much 15 3 houss 12 minskes morte Fhon 4y, o
Ul minutes ?

e d3%Berence bebween 3 Nourts VA manudes ong 4
hourt M0 mPnukes = 3 houxsS \2 minuted = Ahaure Yo

minnyes = Heors  Minwdes

T G v M

1 -4 _Uo —
[ I 9 S

Stnce. 1A < U0, bortrow 4 Youst = 60 myn +12 min =

| 72 eonkes,  WMin
I 12
:’-f.-«‘, - -0

CThue;, 3 owts \2 minudes tg mowe Yhan 4 heur oo

aoke S irtom o Nourt VA minutes .

w8 | Radna, and Rcha  went "%nm a movie . np he
o |movie lasted YFor QA houres 30 minutes . Abdere -
t'“.‘*f————’wmﬂﬁe*ﬂlmi werrt Yot %&\Qppom q and opent Ahow

4 YD mindes. Calewlate e dovdl e spert by
I R | 1 213 1 ) W -
ﬁ‘ a



] a
= 4~
CIASSMALE

Hme She spend_q ™ Schaal .

=1 -
, Ans;,,ﬁgﬂmnﬁz_ﬁm&n&_&asﬁd_i&hmmmuﬂs\
s M_,,,A*'Y\\exj Spm& Yotal Hme n %hnvp?n%a ﬂ%
L minndes 7
! ,,A,,,v,.TQiQ&_'HmeA +h°"\fr g,(‘mn\' = Hours Minute 5
R Q 30
TR 5 min a ool Uy
B— 30 ~ L Y Yours D Mingges
S N A
B -
] Ji 75 minutes= 60 mfowtes + 15 minz 4haust 15 i
J"J E)o;:\ne% speny U houns 19 miaures Yagethere.
[ l .
1 C\ui Ahxju qoes 40 School ok 7:\0 am o Rpm . Find the
|

|

L Ang -*“/—\v\gu Q0RS ‘o school fem Ti0em a)nm.

S

x S5he Spert Yotad Ame o Schoeal = 7°¢0 4o Bam = SOmir
IS S \1 Bam +o0 G am= 1 hour
P e ;o(Qm 1o \Om:ihem

P 1 10am 4o Nam = 1 haure

A ;L Al et Rawm= 4 houwrt
| :

A %{ ime ™ ﬂ_sz 1L hourt

) - L dpm o Qom= 4 houre

’.




‘

il‘ SS”/ '
/) Dcfe
Pag e
\ :
e e e ———— ‘:;—:T‘:*‘_\\\\—

- ¢T0’ro& -Hm& gne. Spenrr= C‘ Xc) \'mm_ﬁdeith ‘\
ii > 6 houres 90 minades

i L;W_RQ;%\, atudies freom G am 40 6:US5am ang Ter,

4o 8:U5 pm dafly. Wow wmany Douxts does he
L dhudy everuyday?

;_'To-iro,l Hme he, shudies = Wours  Miautes

ﬂ,__min; ' o ug ¥
| 4% 4+ 14 Uy .
US| QA houreX0 muinudes ¥

Qo0

—_— —

—_—

QQ min = SQ_m.m + 20 man = me&&mn —

e

T 50; \38 S'm&xes '\o'\-c& ahoms_ 3Qmmuies e,vuuw“/

}!
1
o e
[ 2 L — .
[
P jL" >
I
— ’1‘ , | =
| - R —
|
I
S 1+ >«
I

\





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

